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) 8+2=4 ® 12+4-=3
&) 6+-3=2 @ 18+6-=3
® 4+2=2 @ 24+6=4
@ 9+3=3 @ 40+8=5
® 10+5=2 ® 20+5=4
©® 8+4=2 ® 21+7=3
@ 6+2=3 @ 18+6=23
® 12+3=4 ® 15+3=5
©@ 10+2=5 @ 20+4=5
 12+6=2  30+6=5
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D2Xx1=2 @2%Xx2=4 @2X3=6 @BD2X4=8 B2X5=10
®©2X6=120M2X7=14@2X8=16©2Xx9=18102X10=20
MM3X1=3 @3X2=6 B3X3=9 W3X4=12B3X5=15
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O 8+8=1 D 20+5=4
@ 6+6=1 @ 48+6=8
® 7+7=1 ® 42+7=6
@ 5+5=1 @ 36+6=6
® 4+4-=1 ® 27+3=9
® 8+1=38 ® 36+9=4
@ 7TT1=7 @ 24+8=3
® 4+1=4 ® 18+6=23
©® 0+8=0 @ 27+9=3
W 0+9=0 W 18+3=6
N

0%, O THRWEALRE THhoTH,
EZITWoH 0127254,

B2 h b LD BITIE b AKDTE ADILIL
B2 BV,

HEELEL&LS,

M4X1=4 @4%X2=8 @4X3=12W4X4=16G4X5=20
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®5X6=30W5X7=35@B5X8=4005X9=45W05X10=50
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@ 7T+2=3bFEV 1 ® 43+5=8H%Y3
@ 8+3=2hHFv2 @ 14+3=4bHFEv 2
® 9+4=2h%01 ® 46+-9=5b%0 1
@ 5+2=2h%01 @ 13+4=3b%v 1
® 7T+3=2bFV 1 ® 27+4=6m%Y3
® 9+2=4h%n1 ® 23+6=3bHFEV5
@D 10+4=25H%0 2 @D 58+8=T7THFEV 2
® 10+3=3bH%F01 ® 35+4=85HF1 3
@ 11+2=5bH%01 @ 40+6=6bH%04
W 11+4=2HFE0 3 W 31+-8=3bHE0H7
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D6X1=6 @6X2=1206X3=18D6X4=240BG6X5=30
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O 17+2=8bFV 1 O 19+4=45HF0 3
@ 37+-4=9bFV 1 ®@ 55+-7T=7TbF0V 6
® 53+-7=7bHF04 ® 20+-3=6HF0 2
@ 79+9=8HFn7 @ 67+-9=7hF0H4
® 58+8=7ThHF10 2 ® 57+=8=7hHFE0N1
® 49+6=8b%01 ® 80+9=8HFVS8
@ 5 7+-7=8HF10 1 @ 50+-7=7TbF0N1
50-6=8HFN 2 52+-9=5H%07
@ 27+-7=3bHFV6 © 28+3=9bF0 1
32+-6=5HF0 2 51+-6=8HFn 3
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D8 X1=8 @8X2=16@8X3=240D8X4=32B8X5=40
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O 8+2=14 @15+3=5 @6 4+-8=8 @D28+4=17
®27+3=9 ® 7+-7=1 @D 5+1=5 ® 0+-3=0
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O 7+2=3bFV 1 @15+4=3H%1 3
@60+-8=7Tbx 4 @29+4=7HE0 1
®25+-3=8bFN 1 ®52+-9=5bE07
@D46+-7=650FD 4 ®57+-6=9bHED 3
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